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2025-06-07 (Day 66)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['1", "lopt’], [T, "Topt'], ['RH’, 'RHopt'], ['ETcl’, 'optETcl'], 'LAl', 'optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12

BflE) | GEBRTK (#)) | ERE(EA/) | EREE(B/R) | XS R

07:45 283 150.0 2.888 BS| FMHA@O7:45 KENFEF (RAEESE)
08:25 283 150.0 2. 888 RS ThHA@O8:25 KENFEF (KAfEEEER)
09:00 283 150.0 2.888 RS FiHA@09:00 KREFEF (KREERHSE)
09:35 283 150.0 2.888 Bg| THAe09:35 KRENFESF (RATEREE)
10:20 283 150.0 2. 888 RS ThHA@10:20 KENFEF (CRAFEER)
11:00 283 150.0 2.888 BE| THA@11:00 KRENFEF (RAMERESE)
11:40 283 150.0 2.888 RS FRHRe11:40 REIEF (REAEESE)
12:15 283 150.0 2.888 RS ThHAe12:15 KENIEF CGRAFERER)
12:50 283 150.0 2. 888 RS FiHRe12:50 KREEFE (GREAERSE)
13:25 283 150.0 2.888 RS FiHRe13:25 REHEBFE (REAERSR)
14:05 283 150.0 2.888 BS| ThHA@14:05 KRENFEF (RAEESE)
14:45 283 150.0 2. 888 RS FrHRe14:45 REHBF (GREAERS)
15:30 283 150.0 2.888 RS FiHRe15:30 REHEBFE (REAERSR)
16:20 283 150.0 2.888 BS| TMHA@16:20 KRENFEF (RAEESE)
23t 3962.0 (14%) 2100.0 32333 KEC: 2080.0, PH: 5.9

FEIKECE (1877.0 vs 3697.0) id 5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-12_0, Day=66 (2025-06—07)
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P3-12

ByiE) | EBIAT (FD) | ERE (EA/4) | EREE(B/R) | XS EFRF

06:30 283 150.0 2. 888 BE| {RRi%006:30 Bz (REEHSE)
07:05 283 150.0 2.888 RS {Ri%@07:05 Bz (REERER)
08:00 283 150.0 2.888 RS {Ri%e08:00 B (REAERHE)
08:40 283 150.0 2. 888 RS {RRi%e08:40 Bz (REEREE)
09:20 283 150.0 2.888 RS {Ri%@09:20 Bz (REERER)
10:00 283 150.0 2.888 el Ri%@10:00 Bal (REAEHE)
10:35 283 150.0 2.888 RS {Ri%@10:35 Bz (REAERE)
11:05 283 150.0 2.888 S| Ri%e11:05 Bz (REERRSR)
11:40 283 150.0 2.888 B Rige11:40 Bz (REAERSE)
12:10 283 150.0 2.888 Bl Rige12:10 Bz (REAERE)
12:45 283 150.0 2. 888 B Rige12:45 Bz (REERSE)
13:15 283 150.0 2.888 B Rige13:15 Bzt (REERSE)
13:45 283 150.0 2.888 BE| Rige13:45 BHa (REAEHE)
14:20 283 150.0 2. 888 B Rige14:20 Bz (REAERSE)
14:50 283 150.0 2.888 S| 1Rige14:50 Bah (REERESE)
15:20 283 150.0 2.888 BE| Rige15:20 Ba (REAERE)
15:50 283 150.0 2. 888 BE| Rige15:50 Bz (REAERSE)
16:30 283 150.0 2.888 S| Ri%e16:30 Bzl (REERES)
17:25 283 150.0 2.888 RSl Rige17:25 Ba (REAEHSE)
23t 5377.0 (19%) 2850.0 3ESHKEC: 2080.0, PH: 5.8

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.

FERECE (1820. 0 vs 3408.0) 145

150.0), FAEEHT—@ % XA HS




P3-12_0, Day=65 (2025-06-06)
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22.6

—o— ME

6&0 6&5
m=750,n FV0=0

T
635

27.75 A

27.50 A

27.25 A

27.00 A

26. 75 A

26. 50 A

—o— ME

755 760
m=870,n FV0=0

750

29.6

29. 4 -

29. 2 -

29.0 -

28. 8 A

28.6 -

-o— ME

870 875 880

.0

24.

24.

24.

24.

24.

23.

23.

25.

25.

24.

24.

24.

24.

24.

28.

28.

28.

27.

27.

27.

29

29

29

29

29

m=530, FV0=0

05 ~

00 -

95 A

90 ~

—o— ME

T T
550 555 560

m=660,m FV0=0

T _o

M_E

e

T T
660 665 670

m=780,m FV0=0

50 A

25 A

00 ~

75

50 -

25 -

—o— ME

\
=

780 7é5 760
m=900,n FV0=0

.81

.6

4

.24

.0+

-o— ME

il
i

900 905 910

m=595, FV0=0

23. 30 A

23.25 A

23. 20 A

23.15 A

23.10 A

—o— M_E

660 665
m=690,n FV0=0

26. 0 -

25. 8 A

25.6

25. 4 -

25.2 A

25.0 A

T T
690 695 700

m=810,m FV0=0

29.0 A

28.8 -

28.6

28. 4 -

28. 2 A

28.0 A

—o— ME

8%5 8&0
m=930,n FV0=0

810

30. 0 -

29. 8 A

29.6 -

29. 4 4

29.2 -

-o— M_E

930 935 940




30.

30.

29.

29.

29.

m=960, FV0=0

—o— M_E

T
960

9é5 9;0
m=420,n FV0=0

Warning: col "MW 1] missing

0.2

T T
0.4 0.6 0.8

m=635, FV0=0

—_

40

38 A

36

34

—— MW

635

6&0 6&5
m=750,n FV0=0

40 -

38 -

36

34

-— MW

750

755 760

m=990, FV0=0
- ME
30. 2 -
30.0 -
29. 8 -
29. 6 -
990 995 1000
m=550,m FV0=0

32.

32.

32.

32.

31.

—— MW

il

5%5 5é0
m=660,n FV0=0

40 -

38 -

36

34 -

—— MW

7

Gé5 6%0
m=780,n FV0=0

660

40 -

38

36

-o— MW

7

780 785 790

30.

30.

30.

29.

29.

29.

28.

28.

28.

28.

28.

27.

m=1020, FV0=0
47 —o— ME
9
0
g -
6 -
1020 1025 1030
m=595,m FV0=0
01 —— MW
8 4
6 4
4
9
0
8 4
505 600 605
m=690,m FV0=0
—— MW
40
38 -
36 -
34 -
690 695 700
m=810,m FV0=0
41 4 —-— MW
40 -
39 -
38 -
37 -
36 -

815 820

5] O MW
40 -
35
30
T T T T T
600 700 800 900 1000
m=625,m FV0=0
40.0
—— MW
37.5
35.0
32.5
30.0
27.5
T T T
625 630 635
m=720,m FV0=0
42 1 —— MW
40 -
38
36
720 725 730
m=840,m FV0=0
42 - —— MW
40 -
38
36 L T T T
840 845 850




m=870, FV0=0

43 A

42 -

41 -

40 -

39 A

38

37 A

—0—

M_W

870

T T
875 880

m=990,m FV0=0

46

45 -

44 -

43

42

——

M_W

990

T T
995 1000

m=900, FV0=0

43 ~

42

41

40 -

39 -

38 -

—— MW

T
900

905 91
m=1020m FV0=0

0

46

45 ~

44

43

—— MW

T
1020

T T
1025 1030

m=930, FV0=0

44 -

43 -

42 -

41 -

40 -

39

——

M_W

930

T
935 940

m=960, FV0=0

45 -

44

43

42

41

40 -

—0—

MW

960

T
965 970
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P3-12

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

06:20 283 150.0 2. 888 RS {Ri%e06:20 Bzl (REAEREE)
07:45 283 150.0 2.888 A5 {Ri%e07:45 Bz (REERSR)
08:30 283 150.0 2.888 [Z=| 1Ri%e08:30 Bzh (FEEEEE)
09:20 283 150.0 2.888 FE| 1BRi%@09:20 B (kAERSE)
10:00 283 150.0 2.888 FA| 1Bi%@10:00 Bah (RAEREE)
10:40 283 150.0 2.888 FH| 1BRi%@10:40 B3h (KkABERSE)
11:25 283 150.0 2. 888 FA| {Ri&e11:25 Bz (GGRAERE)
12:15 283 150.0 2. 888 FA| (Ri&e12:15 Bz (RAEEE)
13:05 283 150.0 2.888 |Z=| {Ri&e13:05 Bz (KEAEHSE)
13:45 283 150.0 2.888 |Z=| {Ri%e13:45 Bz (REAEHE)
14:25 283 150.0 2.888 |Z=| {Rige14:25 Bz (REAEBE)
15:35 283 150.0 2.888 |Z=| {Ri&e15:35 Bz (REAEHSE)
16:45 283 150.0 2.888 |Z=| {Ri%e16:45 Bz (REEHE)
249t 3679.0 (13%) 1950. 0 ZHKEC: 2080.0, PH: 5.9

FEREHEME STEAERST (184.0 : 147.0), AIEEAT—@E XAHE5
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (271:69.0), set to 271 ml.
BE[ERECE (1773.0 vs 3375.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=64 (2025-06-05)

150 A

100 A

50

150 -

100 A

50 -

V1, VO ®RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2600

740

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing

- 3000

806 1800 7 é%— 2000

T
—_
o
o
o

T
w o
o

NN]
- 28 =

- 26

200 1 . 3000

300 -

200 -

100 -

Bylnit]; @66 01:49: ET=1650 Fg=1950.0 Ro=388.0

p—— 19

- 2000

- 1000

—a
400 =5 1 2 3 4 5 6 7 ) 9 110 [ 1112 13 ] 1411516117118 19 7201 21 22 | 23 T 2000

BB | B | B || iE | 5 [ 5 [ /5 [ BA | B | B | BF | BH | B | BH [ BA [ BA [ BA [ BA | BA | BA | BH | B | A

300 - }
ByEt @D64 19:31: ET=1764 Fg=1800. 0 Ro=nan 1 o —0 - 2000
200
L 1000
100 -
o —0—0—@

a o o 4 E——
400517 1 2 3 4 5 1 6 7 ) 9 [ 10 ] 111213114 151161 171181197201 21 [ 22 [ 23 T 2000
A5 5 5 | 25| B 5 B B [Z=]| FA 3] A G EZH ER R EZA EZSEZI R FA BH |Z=|%2=]| KA

300 - }
ByWon:@D66 01:49: ET=1596 Fg=1950.0 Ro=380.0 - 2000
200 A :
: L 1000
100 - i
1
b o —i0——@
O ST T s T s s T T B i T e T s T T 59T 0T T2 =0
0ol B | B | & |27 % | % | % | % [B=| B | B | W | W 2222221221521 B W | W (22 (2= W
0.6
0.4
0.2
0.0
—_— 4

| _obs
PPFD_obs

31 ol w ® VP

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=420, FV0=0 m=485, FV0=0 m=530, FV0=0

. M_E 29. 6 o M_E 29.6 - - M_E
28.5
29. 4
29. 4
28.0 29. 21
29. 2 A 99. 0 4
27.5
29.0 28. 8
27 0 - 28. 6
28. 8
T T T T T T T T T T T T T
400 600 800 1000 420 425 430 485 490 495 550 555 560
m=595,m FV0=0 m=630,m FV0=0 m=660,m FV0=0 m=705,m FV0=0
29. 8 - M_E 30. 0 A - M_E 30. 2 . M_E 00 - M_E
29. 6 29. 8 30.0 -
29. 8 A
29.4 |
29.6 99 8 4 29,6
29. 2 A 29 4
29.0 A
29.2 4 99 2
28 8 - 29. 4
29.0 A 29.0 A
T T T T T T T T T T T T
595 600 605 630 635 640 660 665 670 705 710 715
m=760,m FV0=0 m=810,m FV0=0 m=855,m FV0=0 m=900,m FV0=0
30. 25 - 20,4
30. 00 4 —@— ME 30.25 4+ —@— ME —-@— ME ’ —@— ME
30. 00 A 30. 2
29 75 - 30. 00 A
29.75 A 30. 0
29. 50 - 29-75 1 29. 8 -
29. 50 A ’
29. 25 - 29.50 7 29.6
29. 25 A
29. 00 - 29.25 1 29. 4
29. 00
28.75 - T T T 29.00 1 T T T T T T 29.2 T T T
760 765 770 810 815 820 855 860 865 900 905 910
m=965,m FV0=0 m m=420,m FV0=0 m=485,m FV0=0
30. 4 A 52
’ -@— ME 48 -@— MW -@— MW
30. 2 51 1
30. 0 A 46 50
29. 8 49 -
44
29.6 - 46 -
29. 4 49 -
965 970 975 400 600 800 1000 420 425 430 485 490 495



m=530, FV0=0

50 -

49 -

48 -

47 -

46 -

—0—

M_W

550

T T
555 560

m=705,m FV0=0

48 -

47 -

46 -

45 -

44 -

——

M_W

48

705

T T
710 715

m=900,m FV0=0

47 -

46 -

45 -

44 -

—0—

M_W

900

905 910

m=595, FV0=0

48 -

47 ~

46

45 ~

44 -

—— MW

595

T T
600 605

m=760,m FV0=0

47

46

45

44 -

43

—— MW

760

T T
765 770

m=965,m FV0=0

48 -

47 -

46

45

—o— MW

965

970 975

m=630, FVO0=0 m=660, FV0=0
48
—0— MW —0— MW
48
47 1
46 47 A
45 46
44
45
T T T T T T
630 635 640 660 665 670
m=810,m FV0=0 m=855,m FV0=0
47
47 A o MW -o— MW
46 - 46 1
45 45
44 - 44
43 43
T T T T T T
810 815 820 855 860 865
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P3-12

BflE) | GEBRTK () | ERE (EA/) | EREE(B/R) | XS ERR

07:15 288 150.0 2.888 BE| {Ri&e07:15 Bal (REAEHE)
07:50 288 150.0 2. 888 RS {Ri%e07:50 Bz (REERE)
08:30 288 150.0 2. 888 BE| {Ri%e08:30 Bl (REEEE)
09:20 288 150.0 2.888 RS {Ri&e09:20 B (REAERHE)
10:05 288 150.0 2.888 BS| 1Ri%e10:05 Bz (GREMEEEE)
10:45 288 150.0 2. 888 s {Rig@10:45 Bal (REEESE)
11:20 288 150.0 2.888 B Rige11:20 Bz (REAERSE)
11:55 288 150.0 2.888 S| Rige11:55 Bz (REAERE)
12:35 288 150.0 2. 888 BE| 1Ri%e12:35 B (RFAERE)
13:20 288 150.0 2.888 el Rige13:20 Ba) (REAEHSE)
14:00 288 150.0 2.888 BE| Rige14:00 Bz (REAEHE)
14:35 288 150.0 2. 888 e Rige14:35 Bz (REAERSE)
15:15 288 150.0 2.888 el Rige15:15 Ba) (REEESE)
15:55 288 150.0 2.888 BE| Rige15:55 Ba (REAERE)
16:45 288 150.0 2. 888 BE| Rige16:45 Bz (REAERSE)
24t 4320.0 (15%%) 2250.0 3 WFKEC: 2080.0, PH: 5.9

FEREHEME STEAEARST (187.0 : 150.0), AIEEAT—@%E XAHE
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (266:105.0), set to 266 ml.
BE[ERECE (1780.0 vs 3182.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=63 (2025-06—04)

T e g g S S B S g

100 A

50

(¢
200 -

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3179
2600 550 - 3000
2218
1700 780~ 2000
436
740 - 1000
18 Warning: lcol [FVI',| "FVO’'] missing
-0
e v — M_E 30
FRV maxM
150 f=——————mmm e e e B B I Ee i i aEat EE e Tttt
! I l - 28

100 A

50 Ay et

| A

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0,

setECB=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5,

setPHB=5. 9

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

300

200

100 -

p——

Bylnit]; @66 01:49: ET=1899 Fg=2400.0 Ro=510.0
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i
ByWoFv! @D66 01:49: ET=1780 Fg=2250.0 Ro=426.0

1.0

1t

10

11
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3000

- 2000
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0.8

™
T
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B
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5]
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=
B
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B
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0.6

0.4+

0.2~

0.0
1500 ~

1000 ~

500 A

| _obs
—@— PPFD obs

60

40

RH
(] RH_obs
[ ) RHo_obs

VPD P

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



28.

28.

28.

28.

28.

27.

29.

29.

29.

28.

28.

30.

29.

29.

29.

29.

29.

T T
800 1000

m=580,m FV0=0

T
600

M_E

5é5 560
m=715,n FV0=0

—o— M_E

il

750 755
m=855,n FV0=0

T —o—

M_E

it
i
il

860 865

217.

26.

26.

26.

26.

26.

25.

29.

28.

28.

28.

28.

29.

29.

29.

29.

28.

30.

30.

29.

29.

29.

29.

m=465, FV0=0

M_E

4%0 4;5
m=615,n FV0=0

650 6é5
m=745,n FV0=0

—o— ME

760 755
m=885,n FV0=0

745

-o— ME

885 890 895

27.

27.

27.

27.

27.

26.

29.

29.

28.

28.

28.

29.

29.

29.

29.

29.

28.

30.

30.

29.

29.

29.

m=500, FV0=0
—o— ME
8 -
6 .
4 -
2 -
0 .
8 -
500 505 510
m=650,m FV0=0
N Rl ‘“‘”‘\\(}\\._.
0 -
8 -
6 -
4410
650 655 660
m=780,m FV0=0
87 —o— ME
6 -
4 -
2 -
0 -
8 -
780 785 790
m=920,m FV0=0
2

_ c»::)l/;/;//.d.h‘K\‘)..\\.‘k\bo

920 925 930

28.

28.

28.

27.

27.

29.

29.

28.

28.

28.

29.

29.

29.

29.

29.

30.

30.

29.

29.

29.

m=535, FV0=0

—o— M_E

5&0 5&5
m=685,n FV0=0

660 6é5
m=820,n FV0=0

—o— M_E

Bé5 850
m=955,n FV0=0

820

—o— M_E

955 960 965




m=990, FV0=0

30. 4

30. 2

30.0

29. 8 -

29.6

- ME

990

9é5 10b0
m=500,n FV0=0

50 A

48 -

46 -

44 -

—— MW

500

565 5%0
m=650,n FV0=0

46 A

45 -

44 -

43 ~

—— MW

650

Gé5 GéO
m=780,n FV0=0

47 -

46

45 -

44 -

43 -

-— MW

780

785 790

m=1035, FV0=0

30. 4

30. 2 A

30.0 A

29. 8 -

29.6 -

—o— ME

T
1035

1640 1645
m=535,n FV0=0

51 4

50 A

49

48

47 -

46 -

—— MW

535 5&0 5&5
m=685,n FV0=0

48 -

46 -

44 -

—— MW

685 650 Gé5
m=820,n FV0=0

48

47 -

46 -

45 ~

44 -

-— MW

i

820 825 830

50. 0 -

47.5

45.0

42.5 -

40. 0 -

37.5

T T T
600 800 1000

m=580,m FV0=0

47 -

46

45 -

44 -

—— MW

i

580 5é5 5é0
m=715,n FV0=0

50 A

49 -

48 -

47 -

46

45 ~

—o— MW

>

715 7é0 755
m=855,n FV0=0

-— MW

47 4

46

45

44

43 ¢ . .
855 860 865

m=465, FV0=0
—— MW
44 -
42 -
40 -
T T T
465 470 475
m=615,m FV0=0
—— MW
47 -
46 -
45 -
44 -
43 -
T T T
615 620 625
m=745,m FV0=0
48
—— MW
47 -
46 -
45 -
44 -
745 750 755
m=885,m FV0=0
481 —— MW
47 -
46 -
45 -
44 -
885 890 895




m=920, FV0=0

48 - —— MW
47 4
46
45
44 18 . .
920 925 930

m=955, FV0=0
48 - —0— MW
47
46
45 -
44
T T T
955 960 965

m=990, FV0=0
—o— MW

49 -
48 -
47 -
46

T T T

990 995 1000

m=1035, FV0=0

49 -
—— MW

48
47 -
46 -
45 -

T T T

1035 1040 1045
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P3-12

RfiE) [ EBIATK (FD) | ERE (EH/) | BEBREE (B/R) |[XKS EFF

07:45 300 150.0 2. 888 RS {Ri&e07:45 Fz (REAEHE)
08:25 300 150.0 2.888 A5 {Ri%@08:25 Fzi (KRFEHEREE)
09:20 300 150.0 2.888 RS {Ri&e09:20 Fz (REAEHE)
10:05 300 150.0 2.888 BS| 1Ri%@10:05 Fz1 CGGREEESE)
10:45 300 150.0 2.888 RS [Ri&e10:45 Fzi (REAERSE)
11:25 300 150.0 2.888 | 1Rige11:25 Fzh (REERESE)
12:05 300 150.0 2.888 RS Rige12:05 Fz (REAEHE)
12:45 300 150.0 2. 888 e Rige12:45 Fzy (REEHSE)
13:25 300 150.0 2.888 el Rige13:25 Fz (REAEHE)
14:10 300 150.0 2.888 el Rige14:10 Fzy (REAEHE)
14:50 300 150.0 2. 888 e Rige14:50 Fzn (REEHSE)
15:35 300 150.0 2.888 s {Rige15:35 Fx (REAEHE)
16:20 300 150.0 2.888 BE| Rige16:20 Fz (REAEHE)
24t 3900.0 (13%) 1950. 0 3Z i REC: 2080.0, PH: 6.0

TERRHLER 2 STEEARTF (184.0 :

ZRIAEBRERE150. 0 ml.

HEEIHECE (1860.0 vs 3240.0) 15

150.0), FAEEHT—@ % XA HS




P3-12_0, Day=62 (2025-06-03)

150 A

100 A

50

(¢
200 -

100 A

FRV (ml plant-1)

VI, VO/®RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2300 2218

465
720
Warning: lcol [FVI',| "FVO’'] missing 18

v
FRV

- 3000

- 2000
7

- 1000

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0

300 -

200 -

ET (ml/hr/plant)

]
Bylnit; @66 01:50: ET=1413 Fg=1650.0 Ro=206.0

- 2000
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